

Question 5

Carry out the following integrations:

1. $\int \sin 3x \cos 2x \, dx = -\frac{1}{2} \cos x - \frac{1}{10} \cos 5x + C$

2. $\int \frac{1}{\sin x \cos x} \, dx = -\frac{1}{2} \ln |\operatorname{cosec} 2x + \cot 2x| + C = \ln |\tan x| + C$

3. $\int \frac{1}{1 - \sin x} \, dx = \sec x + \tan x + C$

4. $\int \sin^2 2x \, dx = \frac{1}{2} x - \frac{1}{8} \sin 4x + C$

5. $\int \frac{\cos 2x}{\cos^2 x} \, dx = 2x - \tan x + C$

6. $\int \cos^2 x \sin^2 x \, dx = \frac{1}{8} x - \frac{1}{32} \sin 4x + C$

7. $\int (\sin x + 2 \cos x)^2 \, dx = \frac{5}{2} x + 2 \sin^2 x + \frac{3}{4} \sin 2x + C$

8. $\int \frac{1}{\sin^2 x \cos^2 x} \, dx = -2 \cot 2x + C$

9. $\int \sqrt{\sin^2 x + (\cos x - 1)^2} \, dx = -4 \cos \left(\frac{x}{2} \right) + C$

10. $\int \frac{1 - \cos x}{1 + \cos x} \, dx = 2 \tan \left(\frac{x}{2} \right) - x + C = -2 \cot x - x + 2 \operatorname{cosec} x + C$

1. $\int \sin 3x \cos 2x \, dx = \int \frac{1}{2} \sin 5x + \frac{1}{2} \sin x \, dx = -\frac{1}{10} \cos 5x - \frac{1}{2} \cos x$

$\sin(3x+2x) = \sin 3x \cos 2x + \cos 3x \sin 2x$
 $\sin(3x-2x) = \sin 3x \cos 2x - \cos 3x \sin 2x$ If $\sin 3x \cos 2x = \frac{1}{2} \sin 5x + \frac{1}{2} \sin x$
 $\sin 5x + \sin x = 2 \sin 3x \cos 2x$

$$2. \int \frac{1}{\sin 2x} dx = \int \frac{2}{2\sin 2x} dx = \int \frac{2}{\sin 2x} dx = \int 2\operatorname{cosec} 2x dx$$
$$= \ln |\tan 2x| + C //$$

$$\begin{aligned} 3. \quad \int \frac{1}{1-\sin x} dx &= \int \frac{1+\sin x}{(1-\sin x)(1+\sin x)} dx = \int \frac{1+\sin x}{1-\sin^2 x} dx \\ &= \int \frac{1+\sin x}{\cos^2 x} dx = \int \frac{1}{\cos^2 x} + \frac{\sin x}{\cos^2 x} dx = \int \sec^2 x + \frac{\sin x}{\cos x} \cdot \frac{1}{\cos x} dx \\ &= \int \sec^2 x + \tan x \sec x dx = \tan x + \sec x + C \end{aligned}$$

4. $\int \sin^2 2x \, dx = \int \frac{1}{2} - \frac{1}{2} \cos 4x \, dx = \frac{1}{2}x - \frac{1}{8} \sin 4x + C$

$$5. \int \frac{\cos 2x}{\cos^2 x} dx = \int \frac{2\cos^2 x - 1}{\cos^2 x} dx = \int \frac{2\cos^2 x}{\cos^2 x} - \frac{1}{\cos^2 x} dx = \int 2 - \sec^2 x dx$$

$$= 2x - \tan x + C$$

$$\begin{aligned} \int \cos^2 x \sin x \, dx &= \int \left(\frac{1}{2} + \frac{1}{2} \cos 2x \right) \left(-\frac{1}{2} \sin 2x \right) dx = \int -\frac{1}{4} \sin 2x \, dx \\ &= \int -\frac{1}{4} \left(\frac{1}{2} + \frac{1}{2} \cos 2x \right) dx = \int -\frac{1}{8} - \frac{1}{8} \cos 2x \, dx \\ &= \int -\frac{1}{8} \cos 2x \, dx = -\frac{1}{8} \times \frac{1}{2} \sin 2x + C \\ \text{Alternative:} &= \int (\cos^2 x) \sin x \, dx = \int \left(\frac{1 + \cos 2x}{2} \right) \sin x \, dx = \int \left(\frac{1}{2} \sin x \right) dx \\ &= \int \frac{1}{2} \sin^2 x \, dx = \int \frac{1}{4} \left(\frac{1}{2} - \frac{1}{2} \cos 2x \right) dx \\ &= \int \frac{1}{8} - \frac{1}{8} \cos 2x \, dx = \frac{1}{8} x - \frac{1}{8} \times \frac{1}{2} \sin 2x + C \end{aligned}$$

$$\begin{aligned} 7. \int (\sin x + 2\cos x)^2 dx &= \int \sin^2 x + 4\sin x \cos x + 4\cos^2 x dx \\ &= \int \frac{1}{2} - \frac{1}{2}\cos 2x + 2\sin 2x + 4\left(\frac{1}{2} + \frac{1}{2}\cos 2x\right) dx \\ &= \int \frac{5}{2} + \frac{3}{2}\cos 2x + 2\sin 2x dx = \frac{5}{2}x + \frac{3}{4}\sin 2x - \cos 2x + C \end{aligned}$$

$$\begin{aligned} 8. \int \frac{1}{\sin^2 x \cos^2 x} dx &= \int \frac{1}{(\sin x \cos x)^2} dx = \int \frac{1}{(\frac{1}{2} \sin 2x)^2} dx = \int \frac{1}{(\frac{1}{4} \sin^2 2x)} dx \\ &= \int \frac{1}{\frac{1}{4} \sin^2 2x} dx = \int 4 \csc^2 2x dx = -2 \cot 2x + C \\ \text{Alternative} &= \int \frac{1}{(\frac{1}{2} \sin 2x)(\frac{1}{2} \cos 2x)} dx = \int \frac{1}{\frac{1}{4} \sin 2x \cos 2x} dx \\ &= \int \frac{4}{1 - \cos^2 2x} dx = \int \frac{4}{\sin^2 2x} dx = \int 4 \csc^2 2x \\ &= -2 \cot 2x + C \end{aligned}$$

$$\begin{aligned} 9. \int \sqrt{2x^2 + 6(2x-1)^{-1}} \, dx &= \int \sqrt{2x^2 + 6(2x-1)^{-1}} \, dx \\ &= \int \sqrt{1 + 1 - 2\cos\theta} \, dx = \int \sqrt{2 - 2\cos\theta} \, dx \\ &\quad \left\{ \begin{array}{l} \cos 2\theta = 1 - 2\sin^2\theta \\ \sin(2\theta) = 1 - 2\cos^2(\theta) \end{array} \right. \\ &= \int \sqrt{2 - 2(1 - 2\sin^2\theta)} \, dx = \int \sqrt{4\sin^2\theta} \, dx \\ &= \int 2\sin\theta \, dx = -4\cos\frac{\theta}{2} + C \end{aligned}$$

$$\begin{aligned} 10. \int \frac{1-\cos x}{1+\cos x} dx &= \int \frac{(1-\cos x)(1-\cos x)}{(1+\cos x)(1-\cos x)} dx = \int \frac{1-2\cos x+\cos^2 x}{1-\cos^2 x} dx \\ &= \int \frac{1}{\sin^2 x} - \frac{2\cos x}{\sin^2 x} + \frac{\cos^2 x}{\sin^2 x} dx = \int \frac{1}{\sin^2 x} - \frac{2\cos x}{\sin^2 x} + \frac{\cos^2 x}{\sin^2 x} dx \\ &= \int \csc^2 x - 2\cot x \csc x + \cot^2 x - 1 \, dx \\ &= \int \csc^2 x - 2\cot x \csc x - 1 \, dx \\ &= -\cot x - 2\csc x - x + C \end{aligned}$$

One also
has done
by little t
substitu